Items Supplied > Application(s) >
- RIGHT MUFFLER ASSEMBLY \ HONDA GL1800 2012 - UP h

- LEFT MUFFLER ASSEMBLY
- MUFFLER CLAMPS (268-62) HONDA F6B 2013 -UpP

- M8 NYLOCK NUTS
- M8 FLAT WASHERS

[N

NN P

Instruction Manual > ‘\ 1217B J\ Page 1 of 2 Q

PRIOR TO INSTALLATION, MAKE SURE YOUR STOCK GASKETS ARE IN GOOD SHAPE. IF YOU HAVE
ANY DOUBTS AS TO THEIR CONDITION, REPLACE THEM.

1. Remove the stock muffler assemblies by first removing the M8 bolts, flat washers and nuts from
the frame mounts above the muffler bodies. Retain mounting hardware for later use.

2. Loosen the muffler clamps on both sides (see Figure 1) and slide the stock muffler assemblies
toward the rear of the motorcycle to remove. (Do not remove heatshields).

3. Remove the stock exhaust gaskets from the original mufflers and place them into the supplied
mufflers. Remove the rubber tab grommets from the front of the stock mufflers and place them on
the tabs located on front of the supplied muffler assemblies (see Figure 2 and 3).

4. Slide the supplied clamps onto the mufflers and orient them as shown in Figure 2.

5. Install the mufflers onto the stock headpipes (position the mount bracket towards the inside of the
frame) while aligning the heatshield support tabs with the stock heatshield cover (see Figure 3).
To do this, gently slide the muffler forward while slightly squeezing the heatshield together to align
the tabs with the heatshield clips. There will be a uniform gap between the heatshield and muffler
when properly installed.

6. Insert the stock bolt thru the stock washer, frame mount, muffler mount bracket, supplied M8
washer and into the supplied M8 nylock nut; do not tighten at this time. (See Figure 2).

7. Make sure the front of the muffler bodies are still aligned with the heatshields. From the rear,
rotate the mufflers as needed so they are level with the ground and parallel with each other.
Tighten the rear mount bolts/nuts to factory specifications.

8. Tighten the muffler clamps (NOTE: If the muffler clamps are slid to far up the muffler or past the
three slots, the clamps will not tighten the mufflers properly).

Before starting your engine remove all fingerprints from chrome with a quality wax or chrome polish. Failure

to do so can cause chrome discoloration.
CLEANING INSTRUCTIONS:

To clean your black exhaust system use a liquid based soap detergent, such as dishwashing soap applied with a soft
cloth and rinse with clean water. Note: Avoid abrasive cleaning methods such as granular or dry cleansers, simple
green, scotch-brite or steel wool pads. Abrasives may breach the coating and shorten life.

CALIFORNIA CUSTOMERS:

In California, aftermarket parts that have been identified specifically as replacement parts or that have received an Air Resources
Board Executive Order may be used on street motorcycles. All other emissions related aftermarket parts are for competition use
only.

* Cobra® recommends you always wear a helmet while riding. Please never operate your motorcycle while under

the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safely.

Anything's Possibie


https://www.motorcycleid.com/cobra-usa/

COBRA

Instruction Manual >

RUBBER
GROMMETS

RIGHT SIDE SHOWN

‘\ 1217B ‘\ Page 2 of 2

p) \ | ) STOCK MUFFLER
< CLAMP
|/©
-
/I’
°Ru;- S 7
FIGURE 1

(HEAT SHIELD REMOVED FOR CLARITY, DO NOT REMOVE HEATSHIELD)

STOCK BOLT
AND WASHER

MOTORCYCLE
FRAME MOUNT SUPPLIED M8 NYLOCK NUT

/ AND M8 WASHER
9°

MUFFLER MOUNT BRACKET

RUBBER

GROMMETS
INSTALLED
POSITION SUPPLIED
FIGURE 2 MUFFLER CLAMPS
RIGHT SIDE SHOWN SIMILAR TO STOCK
HEATSHIELD
CLIP ON SUPPORT TAB
HEATSHIELD
RUBBER
GROMMET
FIGURE 3
Anything's Possibie

Learn more about motorcycle exhaust we have.


https://www.motorcycleid.com/exhaust.html

